L

Gt

101.

102.

103.

104.

105.

106.

PHYSICS

The weight of a body at the center of
earth is

A) 9.8 ms—2
C) 49ms™2

B) 0
D) 10ms2

The ratio of lateral strain to the
longitudinal strain is called

A) Young's modulus of elasticity
B) Bulk modulus of elasticity

C) Poisson’s ratio

D) Elastic limit

Sl Unit of co-efficient of viscosity is
A) Nsm—2 B) Ns—1m?2
C) Nsm™3 D) Ns2m

30°C temperature in Fahrenheit scale
is

A) 68°F
C) 100°F

B) 86°F
D) 48.5°F

The fastest mode of transfer of heat is
A) Conduction B) Convection
C) Radiation D) BothA&B

The ratio of displacement to amplitude,
when kinetic energy of a body executing
SHM is thrice the potential energy

B)%
D)%

3
A)E

c)y2

G

Wifes e

101. Yeat % 35 T Tk G F WK S
A) 9.8 .82
C) 4.91.a-2

B) 0O
D) 1082

102. niftds faama =1 argew fa=e @ s
HECTAl &
A) TIRERT 1 I JI9TH
B) JcIRRUAl 1 e AU
C) wige 7gura
D) YR €

103. TAR@T 7UIieh i S| 3T 8
A) Nsm—2 B) Ns~'m?
C) Nsm=3 D) Ns2m

104. igHge T W 30°C 99H 8
A) 68°F B) 86°F

C) 100°F D) 48.5°F

105, FEAT & TIHIAI S digaq oTeTy 8
A) =e B) ®a&
C) fafertor D) A3 B gl

106. ST T A1 g 1 R ) 9l
&g ot TTids et gaeht ifaw St i dF

TN B @ foreem & Sy 1 orE
B) %
D) 2,

4JEECE
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107.

108.

109.

110.

A Cylindricai rod is reformed to half
of its original length, keeping volume
constant. If its resistance before this
change were R then the resistance
after reformation of rod will be

A) R B) B,

c) 3R/ D) %%

A proton, a deuteron and an
a— particle with same kinetic energy
enter perpendicularly in a uniform
magnetic field, then the radii of their
circular paths is

A 1:1:.2
C)1:42:1

B) V2 :1:1
D)1:2: .2

A galvanometer coil has a resistance
of 15Q and the meter shows full scale
deflection for a current of 4 mA. To
convert the meter into a volimeter of
range 0 to 18V, the required resistance
is

A) 5885 in series

B) 4485Q in series

C) 5885Q in parallel

D) 4485Q in parallel

Two identical magnetic dipoles of
magnetic moment 2 Am? are placed
at a separation of 2 m with their axes
perpendicular to each other in air. The
resuftant magnetic field at a mid point
between the dipoles is

A) 4/6x10°T  B) 2J5x10°°T
C) 4/5x1077T

D) 25x107T

107. 3TRa it e T g U SerrhR 88 3

TS T T A §C T [H: S S 2
afe aRad & qd gaeht ity R o v afads
& v g9 iy g

A) R B) B/

c) 3%/ o) %

108. TF WM, T YU 3R U o~ 5791 &F 9

I & T THE T Sl % |1y wead
WA A B | A S a9 ) e 3

A)1:1:2 B) V2 :1:1
C)1:42:1 D)1:2: 2

109. TF AeaAniiex Fehl 1 Aty 15Q & 3R

Hie 4 mA i R o/  foe gof A
fagiqur swian &1 et & 0 @ 18V Aot &
Aeeriet # wead F fau aifsa skda &

A) 58850 s@aT #)
B) 44850 F@w H|
C) 5885Q THMIR H|
D) 4485 wwria #}

110. gahg amgel 2 Am?2 ¥ <) T 9 gahig

faya 2 . A g W@ v @ & B I
378 1Y A UH-q & wead ¢l el % wey
fog w aftomft gefim & 8
A) 4/5x10°T  B) 2y5x107°T
D) 2J5x1077T
4JEECE

C) 4/5x107T
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111.

i e i T

A=

112.

113.

If K; and K, are maximum kinetic
energies of photoelectrons emitted
when lights of wavelength A, and A,
respectively incident on a metallic
surface if A, = 3A,, then

K
A) K, > (%) B) K, < (?2)

C) K, = 3K, D) K, = 3K,

If an electron in hydrogen atom"

is revolving in a circular track of
radius 5.3x10~"Tm with a velocity of
2.2x10%ms~1 around the proton then
the frequency of electron moving
around the proton is

A) 6.6x1012Hz
B) 3.3x1015Hz
C) 3.3x1012Hz
D) 6.6x1015Hz

Tritium with a half life of 12.5 years
undergoing beta decay what fraction
of a sample of pure tritium will remain
undecayed after 25 years ?

A) One half

B) One fourth
C) One third
D) Three fourth

D) o= <

111, 9 T ifee I8 W HA: A, 3 A, T

SrefeTT 1 WehTRT AT BreT & ot 2R Ieafla
Frtgerag o TRy s St K, afk
Ky g1afa, =30, 8,

K
A) K, > (%J B) K, < (?ZJ

112, IR ChEoEH SRS eIt 5.3x10-11 o,

# B % gueR v F WEF ¥ =R ek
2.2x108ms™1 i 71f @ @ @1 ] @ Wem

% A 3N g0 @ goieH i enghi ®
A) 6.6x1012Hz

B) 3.3x101%Hz
C) 3.3x10%2Hz

D) 6.6x1015Hz

113. 12.5 ot i anef anyg A grfeaw v after

e &t w1 R1 25 96l ¥ g % =

% 2T % & T &1 R vwT st
s ?

A) &
B) us <urg
C) s fereré

4JEECE
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114,

115.

116.

117.

A convex mirror of focal length f forms
an image which is % times the object.
The distance of the object from the
mirror is

A) (n—1)f B) (”;1)f
C) ("—:l)f D) (n+ 1)

A ray incident at a point at an angle of
incidence of 60° enters a glass sphere
of refractive index +/3 and is reflected
and refracted at the farther surface of
the sphere. The angle between the
reflected and refracted rays at this
surface is

A) 50°
C) 90°

B) 60°
D) 40°

A double slit experiment is immersed
in a liquid of refractive index 1.33,
Separation between the slits is 1mm
and distance between slit and screen
is 1.33m. If slits are illuminated by a
parallel beam of light whose wavelength
is 6300A°, then fringe width will be

A) 6.3 mm

B) 63 mm

C) 0.63 mm

D) None of these

Which of the following are not

114,

115.

116.

T St vr et w3 12, v vRife

T S aRg Y, on ) ain @ s )
e

A) (n-1)f B) i"—;—ﬁf

C) !n—:l)f D) (n+1)f

T TR o i s o a fig w st
60° Bt & 3 /3 sTvadis ¥ us Fra F
I 7R S e el & e Y S g
T%8 W Y=l St &1 36 7% W sk aik
v fero 3 s =1 s 2

A) 50° B) 60°
C) 90° D) 40°

@ f&ios Wi w 1.33 smadis 59 5
§1 %1 951 3 s i g 1 it afie foog o
W % sft i gl 1.33 . ¥ AR fodi =
ST < T GHTOR TR0 G ETT ST
fora e 2 forrsfY wtn 2wdar 6300A° 2 &t
argarth et St

A) 6.3 firft

B) 63 finft

C) 0.63 fimf
D) 318 & FI§ e

117. Feforiea § & Br- g Srda a8 s ?

electromagnetic waves ? A) wifer fomot
A) Cosmicr.

B; G:mrrr:(;-xss i W-wl
C) B-rays ©) pf

D) X-rays D) X-Re

Page No. 28
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S T et =

A,

118. Dimensional formula of the physical
quantity resistance is
A) [ML3T-3A-2)
B) [ML-1T3A-1)
C) [ML2T-2K-]
D) [ML—2T-3A2]

119. What does the speedometer of a
vehicle read/measure

A) Average speed

B} Average velocity

C) Instanteneous speed
D) Instanteneous velocity

120. The magnitude of x and y components
of A are 7 and 6 respectively. Also the
magnitudes of x and y components
of A+ B are 11 and 9 respectively.
Calculate the magnitude of vector B

A) 10 B) 5
C)é6 D) 3

121. A bob of pendulum of mass 50 gis
suspended by a string with the roof of an
elevator. If the lift is falling with a uniform
acceleration of 5ms=2, the tension in the
string is (g = 10 ms2)

A) 0.5N B) 0.225N

118. wiiferes wra it w6t farfirei o &

A) [ML2T-3A2)
B) [ML-1T3A-)
C) [ML2T-2K-1)

D) [ML-2T-3A2)

119, Tk =78 T TTfomTIeh PRt W79 Fgar & ?

A) sftaq
B) ftga dan
C) drehIfere i
D) drcehiior Gam

120. A ¥ x 3Ry weal & yimmr o wmar: 7 aik

6 1. A+ B ¥ x 3R y mesi & ity oft
A 11 3fk 9 &1, alkwr B =1 ity 3
E2y

A) 10 B) 5
C) 6 D) 3

121. G S %1 50 T N1 10 Mo &

JUME H Bd ¥ T a8 § wH 8) IR
SCUYE T 598 2 % gne o 4 {9

MEe A e ?
(g=104.32
A) 0.5N B) 0.225N

C) 0.25N D) 0.025 N C) 0.25N D) 0.025 N
rauetom —
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122. Induction furnace makes use of
A) Self induction
B) Mutual induction

C) Eddy currents
D) None of these

123. A 30uF capacitor is connected to a
150V, 60Hz AC supply the rms value
of current in the circuit is

A) 17A
B) 1.7A
C) 1.7mA

D) 1.7uA

124. A transformer has 100 turns in the
primary coil and carries 8A current.
It input power is 1kW, the number of
tums in secondary coil to have 500V
of output will be

A) 100
B) 200
C) 400
D) 300

125. The waves used by artificial satellite
for communication is

A) Microwaves
B) IR waves

C) Radio waves
D) X-rays

B Page No. 30

122, agm v 1 X4 el &
A) EFm
B) =g
C) Tl urrd
D) ¥ @ wif 7

123. T 30pF uifte ©& 150V, 60Hz AC

R & g9 ¥ wlhe § Rgg w7 ms
LiC

A) 17A
B) 1.7A
C) 1.7mA

D) 1.7pA

124. G wionfira o grenfi gl F 100 yue §
31 8A Forege wmr &) 9 s wif Ry (kW R
Fhsoovﬁ'hmmﬁ%f%mﬁ?ﬂwés?ﬁ
% yTE ) g et

A) 100
B) 200
C) 400
D) 300

125. m%mﬁwmmmaﬁ%
A) q&q it

B) teraa
C) e awit
D) X-fawat
4JEECE
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126. 1 mg radium has 2.68x108 atoms,
lts half life is 1620 years. How many
radium atoms will disintegrate from
1mg of pure radium in 3240 years ?
A) 2.01x109
B} 2.01x108
C) 1.01x10°

D) 1.01x108

127.  What will be input of A and B for the
Boolean expression ?

(A+B)-(A-B)=1
A) (0, 0)
C) (1,0)

B) (0, 1)
D) (1,1)

128. The current gain for a common emitter
amplifier is 69. If the emitter current is
7mA, the base current is

A) 0.1mA B) 1mA
C) 0.2mA D) 2mA

129. The work done in placing a charge of
8x10718C on a condenser of capacity
100uF is

A) 16x10732
B) 3.1x1026
C) 4x10710

D) 32x10-32

126. & firelt 7 eam o 2.68x108 oy §)
Taeht e 3T 1620 o #1 3240 st § 35
Remm F 1 freft o @ e e vy
fomfea €f ¢

A) 2.01x10°
B) 2.01x108
C) 1.01x10%
D) 1.01x108

127. et Ih=afRr (A +B)-(A-B) =1 F R A
3R B % {17 T 1 8N 7
A) (0, 0) B) (0, 1)

C) (1,0) D)y (1,1)

128. T W Ieqrsieh Wae & fore R ity
69 & Af Irusies fae@ 7mA 2 @t amuw
foga g

A) 0.7mA
C) 0.2mA

B) 1mA
D) 2mA

129. 100pF i wiitar 9% T duia W T
8x10718C & v W & & @

A) 16x1032
B) 3.1x10-26
C) 4x10710y
D) 32x10732
4JEECE
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* 130. The angular speed of seconds hand
of the clock is

1
A) %800 rad s
B) %0 rads™
C) %grads™

-1
D) %4o'ads

131. A particle moves from position
r,=(3i+2]-6k)m to position
r,=(141+13]+9k)munder the
action of a force (4i+]-3k)N then
the work done is
A) 46 J

C)86J

B) 56 J
D) 10J

132. A light and heavy body have equal
momentum, which one has greater
kinetic energy ?

A) A light body
B) A heavy body
C) Both have equal kinetic energies

D) Data given is incomplete

133. A flywheel of mass 50 kg is in the
form of a disc of diameter 0.5 m. The
kinetic energy when it makes 120

130. ut it qeg arch g A Frofg afy 2

A) Hggorads™
B) %0 rads™!
C) %0 rads™'

-1
D) %0 rads

131. CHHFNTHEA (4i+]-3k)N F
3rerta Rl 1, = (37 +2]-6k) 2
r, =(141+13]+9Kk) #. 9% Tear 2
o o = @

A) 46 J

C) 86J

B) 56 J
D) 10J

132, Uw &ooht 3R It T%g 1 MmN TUew g,
Torereht nifare it arferes @il ?

A) Toohl T

B) ol s¢g

C) a ol wifersr it | €t
D) Ry i qof e &)

133. U 50 forun =1 =@=m1 0.5 WY, =9 Y TS
A S H 71 3 ol e il e

revolutions per minute about its axis 120 7 ot T R i ol ey
is (I = aMR2) Bt 7 (1 = 12MR?2)

A) 50 n2 B) 12.5 n2 A) 50 n2 B) 12.5 n2

C) 25 x2 D) 100 2 C) 252 D) 100 =2

8 D
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134.  The phenomenon of sound propagation
in air is
A) Isothermal process
B) Adiabatic process
C) Isobaric process
D} Isochoric process

135. The number of electrons present in
—-2C of charge is

A) 1.25x1019
B) 1.25x1018
C) 1.6x101°
D) 1.6x1018

136. The electric field at a point is
A) Always continuous

B) Continuous if there is no charge
at that point

C) Discontinuous if there is a charge
at that point

D) Both B and C are correct

137. In a region of constant potential
A) The electric field is uniform
B) The electric field is infinity

C) There can be no charge inside the
region

D) None of the above

138. Dielectric constant for a metal is
A) zero B) infinite

C) one D) ten

- Page No. 33

134. a1g & & & o ) afteen 2
A) swaiy i
B) == ufEwm
C) wwerEg wigmn
D) uw rafis ufsran

135. 379 % —2C # IR 39 $ e
A) 1.25x101°
B) 1.25x1018
C) 1.6x101°
D) 1.6x10%8

136. W figmiemand
A) ud fim
B) wfe forg v =ig smaw i @ o e
C) g foag W u amawr ® At Fie 7
D) & B 3t C a7 &

137. @ fava & o g |
A) forega &3 @um R
B) fewra &= a¥ia 2
C) &% % *fiaw i uftadw 7€ & @
D) 37w # @ =rd i

138. T ug % fore argfoes e 2

A} I B) 3rg

C) @ D) =&
4JEECE
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139. Two lenses of power +10D and —5D
are placed in contact. Where should an

abject be held from the lens, so as to
obtain a virtua! image of magnification

27
A) 5¢cm B} -5cm
C) 10cm D) -10cm

140. What s the refractive index of material
of a plano convex lens if the radius of
curvature of the convex surface is 5 cm
and focal length of the lens is 20 cm.

A B)
4
o % D) %
141.  Inadouble slit experiment the distance
between slits is increased 10 times,

whereas their distance from screen is
halved then the fringe width

A) becomes %O

B) becomes %0
C) remains same

D) becomes % 0

142. The angle between pass axis of

139. +10D 3 -5D wifer % 3 dfw v # w0
ST &) O g 1 o @ et ot o
ST AT 2 ST A amaeh wfiki g
B Tl
A) 5 &t
C) 10 &t

B) -5 s
D) —10 &

140. T OHae-3I9¢ wib 3 9aT 7 S1qadqiE w1
B 3fe 396 g% Y awar Bww 5 Tt o
wE i B it 20 T R

A % B) %
o % D) %

141, o fifess st , fosgi % s S gt 10 7qom
G Y <ATell R, wieifh w2 & g ammeft At

2 et e
A) Yoo @ s 21
B) Yo B 2
C) aum @i &1

D) %0 B STt B

142, yefieral (TessR) ik fyvdmes Fum e

polarizer and analyser -IS 45°, The off=r 1 vy 450 %Iﬁ?ﬁwﬁwl%%ﬁ%ﬁl
percentage of polarised light passing
through analyser is STTE! 1 Sfevere &
A) 75% B) 25% A) 75% B) 25%
C) 50% D) 100% C) 50% D) 100%
B Page No. 34 4JEECE
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143. Soft iron is preferred as core of

transformer in the form of sheets due
to its

A) High retentivity, low coercivity and
low hysteresis loss

B) High retentivity, high coercivity
and low hysteresis loss

C) Low retentivity, low coercivity and
high hysteresis loss

D) Low retentivity, high coercivity and
high hysteresis loss

144. Rate of change of torque t with
deflection 8 is maximum for magnet
suspended freely in a uniform magnetic
field of induction B when

A) 6 = 90°
B) 6 = 60°
C) 6=45°
D) 6=0°

145. In LCR circuit resonant frequency is
600Hz and half power points are at
650 and 550Hz. The quaiity factor is

A %
B) J%

C) 6
D) 3

Page No. 35

143. Wd % &9 ¥ gFABI & R F fe 7 @R
Y e 4 ST 8, 36w

A) I=3 sativA, f sradieswar 9 iy
Teeeehia wfa

B) 3= ItaUvH, =9 safigFar § fiy
feee il wiv

C) 1 =tm, frsy srardfigsar 9 w9
fefafa aify

D) 1 seRivA, 39 sefiesma g=g
g iy

144, JP™ B F T a9H Yorhia 813 1 @ad eiesh
Teh Y o v fidawr @ & wney s © &
IRed i T 3R e Bt & 5

A) 8 = 90°
B) 6 =60°
C) 0=45°
D) 8=0°

145. LCR @ffhe # o1gshya agft 600Hz & afit
a1 vt faig 650 3R 550Hz W &1 qor

% B
NP
B) J4
C) 6
D) 3
4JEECE
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146. Two identical capacitors have the
same capacitance C. One of them is
charged to potential V, and the other
to V,. The negative ends of capacitors
are connected together. When the
positive ends are also connected, the
decrease in energy of the combine
system is

A) %f-(v,2 -V{)
B) £ (v +V2)
0) 2%~y
D) 7 (V;+V)?

147. The voltage V and current | graphsfora
conductor at two different temperatures
T, and T, are shown in the figure. The
relation between T, & T, is

4 r T‘
Vv T,

A T, >T,
B) T,<T,

146. T - el R wifar C 21 s A o
H V, IR G RV, 7 TR R
&1 uTREl & Fomer Ble T W A 32 )
& BT % gTene Bir Wi e Re W & @
G woreht ) St § e St

A S vzovg)
4

B) = (V2+VE)
C

C) 2 vy "V2)2

D) (V% +V,)?

147. T 5 O goirersh 3 ol ammm T, i
T, R Eees V 3fit forgge | 77 i e &
T, 3R T, w1 g &

A) T,>T,
B) Ty<T,
C)T,=T,

1
D) Ty=—

4JEECE
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148. The potential at a point x (measured in
um) due to some charges situated on the
x-axisisgiven by V(x) = ( 2204)vdtThe

X -
electric field Eatx=4 m is given by

A) % %m & in +ve x direction
B) 1% %m & in —ve x direction
c) % %m & in +ve x direction

] D) % %m & in —ve x direction

149. Two wires of equal diameters, of
resistivities Py and p, and lengths
ly and |, respectively are joined in

series. The equivalent resistivity of the
combination is
py Pili+pals B) P1l2+pal4

I1+|2 |1—|2

lo+p,l pily~pal
Q) Pila +paly D) 1 2°2

|1+|2 '1_I2

1580. The magnaetic field due to current
carrying circular coil loop of radius
6 cm at a point on axis at a distance
of 8 cm from the center is 54uT. What
is the value at center of loop ?

A) 75 uT B) 125 T
C) 150 uT D) 250 uT

E | Page No 37 4JEECE

148. fig X T x— 318 T 5 311391 W@ 81 F
R (um 3 5T 7T V(x) = (xfl)aﬁw
¥x=amuRmadnER

A Y Vim ol e x R )

B) "% Vim st e x fam i
c) 19 %m 3R tTee x R )
D) % i iR e x R

149. T = At < A, Reeht st p,
3 p, 3R TS sH: |, S L, B, s
SIS MY | Fer o gerich wRrawa &

A) Pily+pal, B) Pila+paly
|1+,2 |1-|2

Iy +p,l Pili—pal
C)P12 Pzly D) 117 P22

|1+12 |1_l2
150. $5 & 8 it A g R 1 W o fig w
Bﬁﬁrﬁw%m%?ﬁﬁaﬁaﬁﬁ%
B, T IR & 54T ¥ Big ¥ ¥z w
47 7 gy 7
A) 75 uT B) 125 uT
C) 150 uT D) 250 uT
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